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2.

3.

4.

^ l^itfl"

(A)

(B) (^41^) IcIWf^

(C)

(D) |Ad H\^\l^

l^Hfdl^d ̂  ̂ ^ WTT3Tf ̂  ̂rafxW
cRcTT %, 1^RW 1^WT W y^iciT t ?

(A) Hdl^, oMRhdd

(B) ^licl^ti o^rfrli,

(C) ̂  f^Riid 3Tk fP:-eTm^

(D) 3q^te <1^41 Iddi arten

pHRiHldd ajiHal<,^T^Mi>ylM=n y=t)K
% wr % M t ^^nm't, 1^ UT^ teft

acHic* <a(lc;^ «*i<4 "qid^ f ?

(A) «hWlr^'* dW

(B) iHt%f^wr

(C) HFTTte^

P)

PiMlciIiaa ̂ i" ̂  acMi*^ ̂  ^H6

t?

(A) llMi'^\c<., ciiRmi m^FIm

(B) iftf^RPT^, ̂Tl^%aTBTW
(C)

(D)

(A) -A^*} ̂ anf^
(B) '^W(?T^^)aiiW^ddi'Il=Q H-^Wi
(C) dkl icHHdl^crl IdlM^^^acMKH M'4ld<ui
(D)

6. t I^quH ̂  ^F^naff, w

l^di'JI % [HMRnHad

arMwrt ?

(A) 1955

(B) 1954

(C) 1958

(D) aM^Th^l^

7  % ^

41dl4dl ychcll %% yi5=t)

1TM w f ̂  ̂ ̂ ^

(A)

(B) id^im

(C) 4 lid K ̂^41

(D) f^qiiRai^^mF

Jdl^I^dt?

(A) ^ an^ ̂  a^

(B) falMH, oijRbJId ^ a^ 1%^

(D) oijRtiMd cTRi <H44), f^5ti4 <r|cl^ a^
^u^K>J|
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1. Which digital marketing technique is primarily

used to generate revenue for a website ?

(A) Electronic Billboards

(B) Pay-Per-Click (PPC) Advertising

(C) Content Marketing

(D) Email Marketing

Which of the following best represents the full

range of entities that can be marketed ?

(A) Physical products, personal services and
event promotions

(B) Physical products, services, ideas, persons,

place, events and information

(C) Tangible goods, digital services and

nonprofit campaigns

(D) Consumer goods, political campaigns and

tourism destinations

Which of the following is not typically

recognized as a primary type of benefit that

customers seek when purchasing a product ?

(A) Functional benefit

(B) Psychological benefit

(C) Social benefit

(D) Regulatory benefit

Which of the following is a group of convenience

products ?

(A) Refrigerator, Microwave, Washing Machine

(B) Designer Dress, Premium Shoes, Gold

Jewellery

(C) Toothpaste, Ice Cream, Newspaper

(D) Car, Laptop, Sofa

The macro environment does consist of:

(A) Economic environment of cement industry

(B) Technical environment of sugar industry

(C) Production environment of Tata Textiles

Limited

(D) Social and cultural environment in

marketing

Which of the following Acts deals with the

regulation of marketing activities, viz., price,

production and distribution in India ?

(A) Essential Commodities Act, 1955

(B) The Prevention of Food Adulteration Act,
1954

(C) The Trade and Merchandise Marks Act,
1958

(D) AH of the above

With the help of functional activities of

it can be known what the

customers want, how much quantity they want

and where and what the customer thinks about the

product after it reaches his hand.

(A) Planning

(B) Advertising

(C) Market information

(D) Marketing Research

In which of the following options are aU

promotional tools included ?

(A) Advertising, Public Relations, Order

processing and Personal selling

(B) Advertising, Personal selling. Public

Relations and Sales promotion

(C) Warehousing, Public Relations, Inventory

control and Advertising

(D) Personal selling. Public Relations, Sales
promotion and Warehousing
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9.

WT^ aTR'RFfr^inrft t ?

(A) 35

(B) 50

(C) 65

(D) 70

13.

10. ^^1^?ta^2024-25%1^?f)"gnt)"^^

3M(Emm^3TRT3^wiiH ii2"q:^ ii2Tr%
<+<41^4 1*65^1^%,^

(A) 10%

(B) 15%

(C) 20%

(D) 25%

11. 1 3P[ff^, 2025^30^ 3TfM^

^ TO 87A % cTO ̂  ̂ ̂ ^ #
3Ti^ ^ ̂ ̂  ̂TTTO ?

(A) 5^7,00,000

(B) ? 7,50,000

(C) f 12,00,000

(D) ̂ 12,75,000

12. 3^ ̂  wr % 1^ ̂
C\ Cn

^  TOT {i\\iriii) 3T^

(A) 12 TO

(B) 18 TO

(C) 24 TO

(D) 36 TO

3TBTO:'3Tf^T^^, 1961 %3rmR%3icl%3i^m

WTPTO:

^ 3N^ 3TFr TO ̂  ?

(A) 30 RldM<

(B) 31^

(C) 311to^

(D) 3131^2^

14.^  i<iftAud (NAFTA) TO

^TOR wWt t ̂  ^ ̂

(A) ̂ TOT, W44cl <1-14 3ilir<<t)i y.ci

(B) =tnisi,

(C) y^Th U'^ 3jIlRchl,'^fl^3^^1^<W

(D) A1^4i\ -^TOT 3^ '4I^MMl

15. PlMldl^d ̂  t TO TO 80^ % 3Rpfcr

100%

(A) WnWt^glTXTO^tR^TO

(C) ̂ I^t^TOT^tR^TO

(D) %=^TO^R3lWTOT^RTOTOWf^.^

r^'lM ̂  "R^^nr % % 1%?TTsf

^llMd [^41 ̂ ,^(441 J14ITO
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9. In India, what percentage of the total income from

growing rubber plants and manufacturing of
rubber is considered as agricultural income ?

(A) 35

(B) 50

(C) 65

(D) 70

10. If total income (including dividend income and
capital gains chargeable to tax U/S 111 A, 112 and
112A) of Mr. Murari for Assessment Year

2024 — 2025 is ? 1-65 crore, then the applicable
rate of surcharge will be:

(A) 10%

.  (B) 15%

(C) 20%

(D) 25%

11. Tax rebate under Section 87A of the Income-Tax

Act makes zero tax payable for taxable income up
to what amount from April 1,2025, in the new tax

regime ?

(A) ̂ 7,00,000

(B) ? 7,50,000

(C) ̂ 12,00,000

(D) ̂ 12,75,000

12. What should be the minimum holding period for
listed shares to be eligible for Long Term Capital
Gains ?

(A) 12 months

(B) 18 months

(C) 24 months

(D) 36 months

13. The Income-Tax Act, 1961 contains provision for
companies which require audit, to normally file
the return of income on or before :

(A) 30th September

(B) 31st July

(C) 31st December

(D) 31st October

14.

15.

North American Free Trade Agreement
(NAFTA) is a comprehensive trade agreement
that sets the rules of trade and investment between

(A) Canada, United States of America and

Mexico

(B) Canada, Mexico and Cuba

(C) United States of America, Mexico and

Honduras

(D) Mexico, Canada and Guatemala

Which of the following donations is eligible for
100% deduction under Section 80G ?

Donation to Prime Minister Drought Relief

Fund

Donation to a Public Charitable Tmst

Donation to National Children's Fund

Donation to any Corporation established by

the Central Government or State

Government for promoting the interest of

the members of a minority community
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16. t ̂ ^

(A) yM=6 y^Rl
(B)

(C)

(D) -WMch pcJ-ciH

17. ^ dM-Hl'l ^

<if^a ;

(A)

(B)

(C) tiq^"^
(D) tST'^^llrHct)

18. (6) ^ 5 1^ 371^ # "STtecTT
^#fl"?

(A)

(B)

(C)

(D)

3

16

1

16

32

6

28

19, <;h"1 (bjjy 3^byjj^
(r) #TT:

(A) ̂ dlrH=t)

(B)

(C)

(D) ?T^-^TT^#a;m!^5Tf^(r = 0)

20. 'STATISTICS' y=hK%feR^

W<h=tiai%?

(A) 3628800

(B) 1209600

(C) 604800

(D) 50400

21. JHHla/TOi^HRPid cfle^" <=*^<.'11

(A) (Ifa
(B) ^dd 'A\<ii\ (ylcld!^l)^rt^
(C) 2n?TtWRTtt%'5TTT5TT^(stef)^
(D) 'dd^tedl WTF

22. ^TTf^4^5R^mH3rfpfi2fT^3Tto'^^-Wt?

(A) <HhVi d)l Wdi^nd
(B)

(C) yfd^dd ̂ di< =t)<.'ii 3^M-^-}
(D)

23. yHHdl W

wr (^), tllRd=hl (M) 3fR:d^d=h (Z),
nl'dq ?

(A) x>M>Z

(B) X<M<Z

(C) x>M<Z

(D) x=M = Z

24. IFlft OT ̂ 1^ Hq 1^ ̂5THT ̂ T%tO ̂

(A) 5%^nfeTT^

(B)

(C) 95%^TlfelT^

(D)

25. 'X' ddd

WFTP^ (Normal distribution) % I §«d)i ̂ TM" 485
sfk MHdi 23 % I l^d-il yfd^id 450

3^ 500 ^3T^, Z = 1 -52 ̂

W 0-4357, Z = 0-65 ̂  ̂ld4>d HH 0-2422; Z = 2

^TTH 0-47721?

(A) 43-57%

(B) 47-72%

(C) 67-79%

(D) 71-94%
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16. Which of the following is the first step in data

processing ?

(A) Data Presentation

(B) Data Storage

(C) Data Collection

(D) Data Interpretation

17. Karl Pearson's coefficient of correlation is

appropriate to use only when :

(A) The variables are categorical

(B) There is a non-linear relationship between

the variables

(C) There is a linear relationship between the

variables

(D) The data is qualitative is nature

18. What will be the probability of getting 5 heads in

tossing six (6) coins ?

(A) -j6

(B) -m

(C) .

(D) ̂

19. If both the regression coefficients (b^^y and by^^)
are negative, then the coefficient of correlation (r)
will be:

(A) Positive

(B) Negative

(C) Either positive or negative

(D) Absence of correlation (r = 0)

20. In how many ways can the letters of the word

'STATISTICS' be written ?

(A) 3628800

(B) 1209600

(C) 604800

(D) 50400

21.

22.

23.

24.

25.

When the population/universe is infinite, we
should use:

(A) Census method only

(B) Sample method only

(C) Either Census or Sample method

(D) Complete enumeration of the population

The last stage in the statistical investigation
process is:

(A) Collection of data

(B) Analysis

(C) Interpretation and writing of report
(D) Classification of data

In what situation does equality of central

tendency measures like Mean (^), Median (M)
and Mode (Z) exist in normal distribution ?

(A) x>M>Z

(B) X<M<Z

(C) X >ivi<z

(D) x=M = Z

The probability that we reject the correct Hq
(which should be accepted) is 5%. This will be
called:

(A) 5% significance level

(B) 5% confidence level

(C) 95% significance level

(D) All of the above

'X' is a continuous random variable which is

normally distributed with 485 as the Mean and 23

as the Standard Deviation. What percentage of
items will be found between 450 and 500,

whereas, the area value of Z = 1-52 is 0-4357;
value of Z = 0-65 is 0-2422; Value of Z = 2 is

0-4772 ?

(A) 43-57%

(B) 47-72%

(C) 67-79%

(D) 71-94%
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26.

27.

(TDS) ?

(A) m\\92

(B) TO 192^

(C) TO I94Tr

(D) TO 194^

(A)

(B) ̂ ^rf^R^^^TOPTTOTT
rC)
\ J Cs -o

(D) TOSPT^C^TOTT

28. %r % ^ # TOroif ̂
^^KITO" ^ ̂ ^ ^ ̂TBT ̂ 5RT

.  I ̂ ^j?r^3ncTT%:

(A)

(B) TO3N^C^)

(C) ̂ ®PTO

(D)

29. clW y,ci ^Icll 4i< (_41y.<:icD) 4il ̂ im-ii %

(A) 269^

(B) 279TT

(C) 286

(D) 298

3lRt'=hl{l % ^ ct)l4 =t)<^ % M^crfl ®1I<

22 2023^ TOT fro

2024 - 2025.%1^5(t :

(A) TOfifRdl^ chWldl

(B) ^TRd"?3TOT^iTR^ Pidi^ <^<(;iai

(C) TOftaiPldH^ <+<41dl

P)

31. (COST) 3Tf^rf^, 2017^
t ̂  ̂rrfdi^f^ ̂  lE^ftek w t ^ ̂
^ 3TNf^ ̂  ̂̂TOTf ̂  ^ if

v3 e\ o*

HHT 'flm.Mi ?

(A) aq^l

(B) 3l3?i^n

(C) 313^ m

(D) 3^3^ II 3fp: 313^ III

32. ^ll-MId^

cQ ̂ liq^jqchQi %?
o

(A) ei«^H f^tn
P) ̂lf6T^TOTOH(#5T^

(C) 51^^

(D)

33. iltq-^i^TOafk^^^d^TteT, 2017^TO
10(I)(T3) %

f^rfe^WT srteTO^TOt ?
o

(A) lT52rtci43ild<W0-5%

(B) VF5aTtzM^^l%

(C) U^t<i43ild<^2-5%

(D)

34. 1962^TO 13%WTO

^^^j.7TT^^^|■i^|[ddMld^?^^3^IcIH

(A) ^Hid >daK^ %TO ̂ -di ^mi %
(B) ^TOT^^ww^^ricrawBtwrt
(C) ^ ̂  fen W TOT STTTO^ TO¥ ̂

fen^TOT^
p) ^TOTTtemtmi^fenTOTt
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26. Under which Section of the Income-Tax Act is tax

deducted at source (TDS) on salary ?

(A) Section 192

(B) Section 192A

(C) Section 194A

(D) Section 194C

27. Which of the following is the main objective of

tax planning ?

(A) Maximizing taxable income

(B) Minimizing tax liability

(C) Avoiding legal compliance

(D) Tax evasion

28. Loopholes in tax laws are taken advantage of by
violating the spirit of the tax laws for their own

benefit. It is called:

(A) Tax planning

(B) Tax evasion

(C) Tax avoidance

(D) Tax management

29. The Goods and Sendees Tax (GST) Council was

established under which Article of the

Constitution ?

(A) 269A

(B) .279A

(C) 286

(D) 298

30. Mr. Lokesh, an Indian citizen, left India on

September 22, 2023 for the first time to work as

an officer of a company in Germany. The
residential status of Lokesh for the Assesment

Year 2024-2025 will be:

(A) Resident Assessee in India

(B) Not Ordinarily Resident Assessee in India

(C) Non-Resident Assessee in India

(D) None of the above

31. Which Schedule of the CGST Act, 2017 lists

down the activities which shall be treated neither

as supply of goods nor supply of services ?

(A) Schedule I

(B) Schedule II

(C) Schedule m

(D) Schedule 11 and Schedule III

32. Which document is mainly required by the

importer for customs clearance in India ?

(A) Bill of Lading

(B) Commercial Invoice

(C) Bill of Entry

(D) Packing list

33. According to Section 10(l)(a) of the Madhya

Pradesh Goods and Services Tax Act, 2017, what

is the maximum rate of composition levy
applicable to a manufacturer opting for the

composition scheme ?

(A) 0-5% of the turnover in the State

(B) 1% of the turnover in the State

(C) 2*5% of the turnover in the State

(U) 3% of the turnover in the State

34. Under Section 13 ofthe Customs Act, 1962, when

is an importer not liable to pay duty on pilfered

imported goods ?

(A) When goods are sold after unloading

(B) When goods are damaged at port

(C) When pilfered goods are not restored to the

importer

(D) When goods are stored in a warehouse
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35. «t)i [hcih :

C\

(i)

(ii)

(iii)

(iv) Ris«n

c^tf^:

(A) (i)-l,(ii>3,(iii)-2,(iv)-4

(B) (i)-4, (ii)-3, (iii)-2, (iv)-l

(C) (i)-3, (ii)-4,(iii)-2, (iv)-l

(D) (i)-4, (ii)-3, (iii)-l, (iv)-2

^JI
C\

(T8^/WW/ cffi)

1. 1990

2. 1964

3. 1997

4. 1982

36. PMldR^d ̂  ̂  PimM t

oZfcRTRT cl^ SFT 3TfcnT% ̂IsTKt % ^

(A)

(B) ij.'d i\k^\

(C) i\k^\

(D) ^ 31?nM

37. (GDR)

(A) ̂ mcTT^M

(B) ^KUIMdl

(C) <^41

(D)

38. ■5mWTT^^^3TR (EBIT)~^r%37?T3TR(EPS)
dd^dl [^qi >311011:
(A) ^qiERnte) ^ 3Tra" (EPS) ̂

(B)
^ 1^ 3rf^ 3m WT (EPS) ^

(C)

(D) 3T% 3m 3TR j]U|c|Tll ^ ^

39. Rfrl^^Tf^(PllH4ilH)3Tf^Tf^, 1956# TO 4
^RRT?n"%^i4tot 1

(A) «icn<n

(B) 3^-cmm

(C) ^^1Mw(tT^e#5j)
(D) qR¥Tto(R^33m)1^

(B) cjlPlI^ctif^q^

(C) sm

(D) ^^Wftk(^^1^

41. 3fTO %. (NSEIL) #
^STEFTT %3lfc[^^#3H^TW^#'nf sft I
(A) H<Ri^H tlftla

(B) -cistJ^cff «Pifa

(C) ^<c||41 tiftPi

(D) ^^Pifci
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35. Match the following :

List I List II

(Financial (Year of

Institution) establishment)

(i) NABARD 1. 1990

(ii) IDFC 2. 1964

(iii) UTI 3. 1997

(iv) SIDBI 4. 1982

Choose the correct option :

(A) (i)-l,(ii)-3,(iii)-2,(iv)-4

(B) (i)-4,(ii)-3,(iii)-2,(iv)-l

(C) (i)-3,(ii)-4,(iii)-2,(iv)-l

(D) (i)-4,(ii)-3,(iii)-l,(iv)-2

36. Which of the following has been established for

regulating the business in stock exchanges and
any other securities markets ?

(A) Reserve Bank of India

(B) Securities and Exchange Board of India

(C) Insurance Regulatory and Development

Authority of India

(D) Pension Fund Regulatory and Development

Authority of India

37. Global Depository Receipts (GDR) are issued

against .

(A) Equity Shares

(B) Debentures

'  (C) Fixed Deposit Receipts

(D) Mutual Fund Units

38. An Earnings before interest and taxes (EBIT) -

Earnings per share (EPS) indifference analysis
chart is used for:

(A) Evaluating the effects of business risk on

EPS

(B) Examining EPS results for alternative

financial plans at varying EBIT levels

(C) Determining the impact of a change in sales
on EBIT

(D) Showing the changes in EPS quality over
time

39. Section 4 of the Securities Contracts (Regulation)
Act, 1956 is concemed with the recognition of a:

(A) Broker

(B) Sub-broker

(C) Stock exchange

(D) Mutual fund

40. Which one of the following is not related to
money market ?

(A) Commercial Paper

(B) Commercial Bills

(C) Preference Shares

(D) Treasury Bills

41. The National Stock Exchange of India Ltd. was

established as per the recommendations of

report.

(A) Narasimham Committee

(B) Chakravarty Committee

(C) Pherwani Committee

(D) Chore Committee
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42. ^

(A)

(B) ^ yrqRin<t
(C) ^ ^ ̂ ^ ̂

(D) ̂ rmm w yl^^id t ̂  ̂

43. "^t ̂«(^K^Il ̂  sn^BT %:

(B) 3;^ ̂ l^chltrHn

(C) 4)fcl4)ltrfid WT, 3TeW^ ̂  3^ ̂TrMr

es

(D) 3iwMi#WTT,^^T4?flRT^3^'WJH

44. 3Tm^ 3TraWRR l^^rffer ̂ RT,
3Rf^, 3tmt^ 5ZT^ ̂  ^ ̂ IIrT

(A)

(B)

(C) MHI^^iP)^ Midi

45. 3R^WRwrm wrRaRRTcrwitR^rTj|TT ̂
N) ̂  ^0

r=15%WKg=12%^?
(A) 100%

(B) 50%

(C) 25%

(D) ̂ (Zero)

46. ^ ^ Rmm fjm 60% t w
^ TfcSIR (ROI) 16% t, ̂  tern ̂

Ml

(A) 5-4%

(B) 6-4%

(C) 7-4%

(D) 8-4%

47. innf^R^d ̂ ni^ff^hi^m y,ci ^lychl^Ji%^trr
^31% 3m 3TR (BPS) ̂  WTT^tM:

:^56
©\

Rmm WR 3RqRr: 60%
N3 v3

7jq^:2

(A) K30

(B) ̂ 56

(C) ̂ 28

(P) ̂ 84

48. (Gordon Model)

(A) ̂  STRfte 3Icm^ ̂  (IRR) M # RRcT %
37te # 3# 3m W RNm

^'IdH yddltl

(B) ̂  3TRTte 3R5M ̂  (IRR) ̂  # RFR ̂
3Tte ^ 31% 3m ̂  t w Rmm
^MdH alc^dlt 1

(C) ̂ 3TRto31c?TR^(IRR)M#RFR%
% 31% 3m t W RTW

t<e.ai % 1
vD

(D) ̂  3THto 3Rm^ ̂  (IRR) ̂  ̂ RFR %

^ % ̂T% ̂  ̂ t ̂  Rmm
MdCll % I
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42. The assumptions of MM hypothesis of capital
structure do not include the following :

(A) Capital markets are imperfect

(B) Investors have homogeneous expectations

(C) All firms can be classified into

homogeneous risk classes

(D) The dividend payout ratio is cent percent
and there is no corporate tax

43. The term 'Capital Structure' means :

(A) Long-term debt. Preferred stock and Equity

shares

(B) Current assets, Current liabilities and

Long-term debt

(C) Long-term debt, Short-term debt and

Working capital

(D) Shareholders equity, Working capital and

Provisions

44. Determination of Basic needs. Image, Learning,

etc. belong to which factors determining

consumer behaviour ?

(A) Social Factors

(B) Economic Factors

(C) Psychological Factors

(D) Technological Factors

45. What should be the optimum dividend payout

ratio, if r = 15% and Kg = 12% ?
(A) 100%

(B) 50%

(C) 25%

(D) Zero

46. If the company's dividend payout ratio is 60%
and ROI is 16%, growth rate would be

47.

48.

(A) 5-4%

(B) 6-4%

(C) 7-4%

(D) 8-4%

Compute EPS as per Graham and Dodd approach
with the following information:

Market Price : f 56

Dividend payout ratio : 60%

Multiplier: 2

(A) ?30

(B) ̂ 56

(C) ̂ 28

(D) ̂ 84

Which of the following statements is correct with

respect to Gordon's Model ?

(A) When Internal Rate of Retum (IRR) is

greater than the cost of capital, the price per

share increases and dividend payout

decreases.

(B) When Internal Rate of Retum (IRR) is

greater than cost of capital, the price per

share decreases and dividend payout

increases.

(C) When Intemal Rate of Retum (IRR) is equal

to cost of capital, the price per share

increases and dividend payout decreases.

(D) When Intemal Rate ofRetum (IRR) is lower

than cost of capital, the price per share

increases and dividend payout decreases.
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49.

50.

r^MR^INl

i872^feT?TRr%3Rpfcr

^TTft?

(A) ̂ KT10

(B) TO 23

(C) TO2C5T)

(D) TO2(S^)

# 9fm^ ̂TTOTTOT f^TOTRT'

yfdHlRd^?

(A) A=hil'R

(B)

(C)

(P)

51. TOfk ̂ ifro 1872 %

WT%t^ fHHfdnkd

(A) 51^, TOT^ 3m, H ̂  ̂

(B) 5^1^^,TOI3^^37^R,^^^q^,aqq^TO^^

(C) 3iyrill[^ld MdH I ̂

(D) 3TO^, chHd, ^

5rft^

52. oiiiqtiiRi«n ̂ Ia«t)ai ̂  ci<9i^i

^ ̂ ^ cM ̂7^ % ?
(A) 3=5^^Rl<hT^#5if?teSTT

(B) ̂ ^yctiiiiH

(C)

(D) hR^iihI «tJi

53. 3^^^Pl<HH, 1881 % 3T^?TK Ic(P1h<4-'^
% a^RPfcT 1^)^ ̂T^TW^nlw ̂  f ?

(A) 3

(B) 2

(C) 1

(D) 4

54. 2013 # TO 135 % W,

1 31^, 2014 % ̂  3^ ?Tm5fTO HM<i\
'  vD

C\

?rm" ̂  ^rtocT ̂ iqfe: TOrte <iiiwiRic4

(^ftTT?f3TK)'l[rlf^M^y4

(A) 1%

2%

3%

5%

(B)

(C)

(D)

55.

r?lf ^Hl >3lldl

t:

(A) 1932

(B) 5rfcimf3Tf^Tf^,2002

(C) ̂ ^q^3#f^,2013

(D) H<5+)M Ici<aa 37f^ri^^fTT, 1881

56. ̂  4cMK4^i, [^^<4,1, o^TtM 3^ ̂
>i<;iai3Tf«t)i i<cb «M cTO

^^^3Tt 3fk'^on3Tt%31R??R%1^cR0T,

(A) 3#IT^

(B)

(C) ̂ ^if^

(D)
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49.

50.

51.

"An agreement enforceable by law is a contract".
This definition is given under which Section of

the Indian Contract Act, 1872 ?

(A) Section 10

(B) Section 23

(C) Section 2 (h)

(D) Section 2 (e)

Who propounded the *Need Hierarchy Theory of
Motivation* ?

(A) McGregor

(B) Herzberg

(C) Abraham Maslow

(D) William Ouchi

According to the Indian Contract Act, 1872 "free
consent" is consent that is not caused by which of

the following ?

(A) Coercion, undue influence, fraud,
misrepresentation or mistake

(B) Coercion, undue influence, fraud, ignorance
or mistake

(C) Fraud, misrepresentation, mistake, force
majeure or coercion

(D) Undue influence, fraud, mistake, breach of
contract or coercion

52. Which of the following is not a basic element to

foster business ethics at the workplace ?

(A) Top management's commitment

(B) Publication of a code

(C) Excluding employees from ethical

decision-making

(D)' Measuring results

53. How many parties are involved in Bill of
Exchange under the Negotiable Instruments

Act, 1881 ?

(A) 3

(B) 2

(C) 1

(D) 4

54. Under Section 135 of the Companies Act, 2013,

from April 1, 2014, Indian companies meeting
certain tumover and profitability criteria are

required to spend what percentage of their
average net profit on Corporate Social
Responsibility (CSR) activities ?

(A) 1%

(B) 2%

(C) 3%

(D) 5%

55. "A company is an artificial person, invisible,
intangible and existing only in the eyes of the

law." This law is known as :

(A) IndianPartnership Act, 1932

(B) The Competition Act, 2002

(C) The Companies Act, 2013

(D) Negotiable Instruments Act, 1881

56. .It includes an association of producers, sellers,
distributors, traders or service providers who

among themselves control, or attempt to control
the distribution, sales, or price of goods or

provision of services:

(A) Acquisition

(B) Agreement

(C) Cartel

(D) Merger
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57. RMf^R^d ̂  ^T«IT

(A) dWl^^ch<u| 3iRc|i4dlij;

(B) dildl

(C) STRTfM ̂  W\ ̂TTft^
(51^

P) ^ Mm ̂  yniuH

58. '«H$ilai WTO % RlU. IP HM=t)

Pl^lRd <=ti<cil % ?

(A) dH^ldl

(B) «H$i1cll

(C)

(D) ̂ %?<r1H5fldl

59. fdMd

5iMMrtl

(A) >i^^ic;'i y.q

P) <r5mpf(m#5T)w^5T^mpf

(C)

P) B^ST^TT^dl^nRd^H

60.

%M3: f^Rn-u ̂  %^m^PTR

Mtti

(A) jrf^rrmclf^)

(B)

(C) 3Mm(3ITf^)

p)

61. 3TRlM^n^%'T^%T^^5lfcRRr%?^^3l5^^
(Tax)^ =h^Mldltl

(A)

(B)

(C)

(D)

62. M#iMrTt^^-^f^mTRWI3T( WTO)
^ chi4 ?

(A) WTO <^NI< ̂M^ld") ̂  yi^lWd

(B)

(C) .

P) qil RmcIKI

63. W% (SAARC) # ^ M %
^nM^f I

(A) JITOM

(B)

(C) ti[^<^

P)

64. ^fm Trf^Rif ^prar (^-saarc)

^WMf3TTSIT|
(A) 8Mt^, 1982

P) 8Mi^, 1983

(C) 8Mt^, 1984

P) 8Mt^, 1985
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57, Which of the following is, not a non-tariff

barrier?

(A) Complex documentation requirements

(B) Imports Quota on specific goods

(C) Countervailing duties charged by importing

country

(D) Pre-shipment product inspection and

certification requirements

58. Which Agreement sets IP protection standards for

WTO members ?

(A) Paris Agreement

(B) TRIPS Agreement

(C) Berne Convention

(D) Madrid Agreement

59. Foreign investments are prohibited in :

(A) Power generation and distribution

(B) Highways and Waterways

(C) Chit funds and Nidhi company

(D) Airports and Air transport

60. At any point of time, all markets tend to have the

same exchange rate for a given currency due to :

(A) Hedging

(B) Speculation

(C) Arbitrage

(D) Currency Futures

61. A tax applied as a percentage of the value of an

imported good is known as .

(A) preferential tariff

(B) ad valorem tariff

(C) specific tariff

(D) mixed or compound tariff

62. Which of the following is not the function of

WTO ?

(A) Administering WTO trade agreements

(B) Stability of monetary values of member

countries

(C) Forum of trade negotiations

(D) Handling trade disputes

63. The Standing Committee of SAARC consists of

the of the member countries.

(A) Prime Ministers

(B) Foreign Ministers

(C) Foreign Secretaries

(D) Finance Secretaries

64. South Asian Association for Regional

Cooperation (SAARC) was established on

(A) 8th December, 1982

(B) 8th December, 1983

(C) 8th December, 1984

(D) 8th December, 1985
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e\

1. f^TOT3;^3rftTOT

2. «m4

3. cRR% PlMi^ ̂

4. o^I^dMd

(A) 1,2 3^4

(B) 2,3 3^4

(C) l,2aTk3

(D) I.3 3;^4

66.

67.

68.

^  Tlf?" % ?

(A) -iufldciiCi^^Tren?^

(B)

(C) McilnRi

(D) il<u| yl^b4l^3TFite"

^*t?

(A)

(B) 3fl??lR«h

(C)

(D) 5rflm3^telH

PMl^l^d 11 3^;?^ M<.^K 4i4^iR41 ̂

f^wrt?

(A)

(B)

(C)

(D) >ilrtii5'i 4l'»i'iiy.

69. 4Hd M-3H :

(A) ̂ ^§TTtt

(B) 41^0 dldldiui^ailctidd

(C) MHd

(D) HH"^ 4l^'1l37t3fk'^t4stiHl «M

(A) d^'JTT'^'^ilft'

(B) 3T^^TT^

(c)

(D)

71. Rnf^R^d # ̂ ch4-ciil\4i ̂  ̂

MriJiir wV? %?

(A)

(B)

(C) iTicyien 4i-3i'ii><

(D) ̂ ^-Sn^lRd ̂dd

72. 1%# 3nOT^xTT3if ̂

d<+i4l4il#M^^H 4JlFdU.:

3Tjnd"f^^^W

Cn

^-amTR^p^iTR

1.

2.

3.

4.

e\

(A) ̂ ;^1,23^3

(B) %^13^2

(C) l,2,3 3fk4

(D) %^2,3#C4
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65.

66.

The important components of Job Specification

include:

1. Education and Training

2. Work Experience

3. Stress-coping Ability

4. Personal Hobbies

Select the correct option :

(A) 1,2 and 4

(B) 2, 3 and 4

(C) 1,2 and 3

(D) l,3and4

Which activity is not an important step in the

Selection process ?

(A) Interviewing the candidates

(B) Choosing the successful candidate

(C) Promotion

(D) Organising the induction process

Which one of the following is not the goal of Job
Analysis ?

(A) Safety and Health

(B) Industrial Relations

(C) Assess employee performance >

(D) Training and Development

68. Which of the following is an indirect reward

given to the employees ?

(A) Commission '

(B) Security

(C) Performance-related Pay

(D) Incentive Schemes

67.

69. Human Resource Planning process does not
include:

(A) Starvation

(B) Assessment of external environment

(C) HR forecasting

(D) Development of HR plans and programmes

70. Causes of workplace stress arise due to the

various reasons; identify the psychological

problems for workplace stress.

(A) Loss of Motivation

(B) Depression

(C) Design of Workstation

(D) Financial Problems

71. Which of the following is not part of the direct
reward given to the employees ?

(A) Job Satisfaction

(B) Performance-related Pay

(C) Incentive Schemes

(D) Skills-based Pay

72. Identify HR requirements forecasting techniques

of an organisation:

1. Trend Analysis

2. Ratio Analysis

3. Normal group techniques

4. Zero-base Forecasting

Codes:

(A) Only 1,2 and 3

(B) Only 1 and 2

(C) 1,2,3 and 4

(D) Only 2, 3 and 4
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73. STFT = <+4^lR41 + mR-^WH

3TH + ^ 3fM ̂  3W
3^Fr%WR^[^*Ml^Raa fq^T^M^ctxl

[^■Ml^idlt:

(A) -icHK

(B) 3Tr1^
(C)

(D)

f?
(A) l-5 4te:3^^ W-10^

(B) 3T5Br^ 3Tte t
(C) yiRs4<^l t 3T^ ̂  70%, ^ 80%

n^%75%3t^w1^
(D)

75. olMK <.1^^ "SCMiq (GNPj^)^:
(A) GDPj^+^aTOc^ra?^
(B) GDPj^ — ^l<rl
(C) GDPj^-1^%Mlkl
(D) GDPj^ + ^ ^TRT ^ arPT

(^ GDPmp ^ ^ ̂
tRd -dcHldtt)

76.

(A)

(B) ^
(C) a™

(D)

77. dlwRct) ^d=tirri ^R^^drHid (aft ^4t) f 56,700
^ a;^ ITP^ 135 ^ «bl^Pld)

^  e\

aft:|t4t(GDP)#ft:
(A) ^ 76,545

(B) ^38,272-5^
(C) f 48,255-3^%
(D) ^ 42,000

78. odRhOd arPT # WTT W1 IdnR^f^d ^
arPT "4 ait^ ̂TPTT % ?

(A) f^ii41d aiiddRd?rPT
(B) ^OdH*l %
(C) WTRWPWT

(D) aH4<+dt^=hl^H4f

79. ^T5TK %
WJ api^ # ̂ Rpt ^ # ̂rmr ^

(A) y.dill^d)K
(B) ai<rHifM«t)K

80. ^rfriWlf ̂  #, ^ (equilibrium)
"4 1
(dw MC=■^fter WPT a^ MR=^fter Tiap^)
(A) MC<MR?ta^MC^1t^#aTk%?TT

|aTT^
(B) MC = MR^a;^MC^MR^dTrOT^

wmit
(C) MC = MR^a^MC^MR^^4t%^

=hiidi ̂

(D) MC> MR # a;R^ MC dsb ^q<^OTJ^33crT
|3TT^
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73.

74.

"National Income = Compensation of Employees

+ Operating Surplus (rent + interest + profit) +
Mixed Income of Self-employed + Net Factor

Income from Abroad"

This formula is used in the following method of

measurement of national income :

(A) Value Added Method or Product Method

(B) Income Method

(C) Expenditure Method

(D) Consumption Method

Which of the following comes under the category

of statistical data ?

(A) The height of Ashok is 1 -5 metres and he is
studying in class 10

(B) Vinod is more intelligent than Ajay

(C) Ashok secured 70% marks in Statistics,
whereas Ramesh secured 80% and Ganesh

75%

(D) All of the above

75. Gross National Product at Market Price (GNPj^)
is:

(A) GDPj^ + Net Indirect taxes

(B) GDPj^ - Depreciation

(C) GDPj^ - Net Factor Income from Abroad

(D) GDPj^p + Net Factor Income from Abroad
(Here GDPj^ means Gross Domestic

Product at Market Price)

76. Which of the following is not a unit of statistical

analysis and interpretation ?

(A) Coefficients

(B) Rates

(C) Ratios

(D) Conclusions

77. If real Gross Domestic Product (GDP) is

? 56,700 crore and price index is 135, then

nominal GDP will be :

(A) ̂  76,545 crore

(B) ̂ 38,272-5 crore

(C) ̂ 48,255-3 crore

(D) ̂  42,000 crore

78. Which of the following is added to national

income while calculating personal income ?

(A) Undistributed profits of corporates

(B) Transfer payments made to foreigners

(C) Transfer payments to individuals

(D) None of the above

79. In form of the market structure,

the degree of control over the price of its product

by a firm is very large.

(A) Monopoly

(B) Oligopoly

(C) Perfect competition

(D) Imperfect competition

80. In the situation of perfect competition, a firm is in

equilibrium when its .

(Here MC = Marginal Cost and MR = Marginal
Revenue)

(A) MC < MR and MC curve is downward

sloping

(B) MC = MR and MC curve cuts the MR curve

from above

(C) MC = MR and MC curve cuts the MR curve

from below

.(D) MC > MR and MC curve is upward rising
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81.

82.

RnldRdd ̂  ̂ ^

^t?

(A)

(B) fdstj-M

(C)

(D) MM f^cH

totwr 3^ fer 31^ %

^T^if^TOT % ^ ?

(A) BFTTte

(B) iN-fllclc+i

(C) 3TTffe

(D)

83. PlMldH^d "l^'ld y<J)ld ?
(A) ̂ ^^nlkR

(B) tRHTcT^^TTO

(C)

(D)

84. amw HRcft t % feft % 3W

(A)

(C)' o4dyi4 (^dd °i\\m)

(D) ̂ HH^f^Mdl

85. Wr^RTO^TOr%^^^IFdt3fk3TI^iTWff

^ %n: ̂  ̂ ̂  ̂ ^ t

R'jl'iJ Rl^l 5IT 1

(A) 5iteTTi^

(B) ?teT3n^

(C) U^^h^HTSTRiW

(D)

86. ^ ̂ZTT^^nf^ BUTT t ̂  "tr^ ̂
3Tf^ct) I

(A) 3ia<I"^'H Pmh

(B) ̂ M^iqM

(C) R'W

(D) ̂ TT^:5rf^d^%3WT

87. 3^ M!<MR<=b dildMO* ̂  3^d<Ft^^ ̂ RKf
oiHi^ % %^hT 2024-25 ^TRd"

slKl PMf^Rdd W MWlf^d #

Tlf sft?

(A) ̂ ^3W ^TtoT

(B) Pl-^Id (ECEHs)

(C)

(D)

88. 1993^,teT^3l^HOTT^PSEs

^Hfilld R-M4d^sft?

(A)

(B) ̂ .t^KTSR

(C) 3TK.fWjf^

(D) 3TfM41d
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81. Which of the following book is both a journal and

a ledger ?

(A) Journal Proper

(B) Sales Book

.  (C) Cash Book

(D) Bills Receivable Book

82. Liberalisation, Privatisation and Globalisation are

elements of which type of environment ?

(A) Social

(B) Political

(C) Economic

(D) Technological

83. Which of the following transaction is of capital

nature ?

(A) Comrhission on purchases

(B) Cost of repairs

(C) Rent of factory

(D) Wages paid for installation of plant

84. Which concept assumes that the infinite life of an
organisation can be split into smaller periods of

equal duration ?

(A) Accounting period

'  (B) Business entity

(C) Going concern

(D) Consistency

85.

86.

The Government of India had decided to set up

NITI Aayog, in place of the erstwhile

, as a means to better serve the needs

and aspirations of the people of India.

(A) Planning Forum

(B) Planning Commission

(C) Commission for National Planning

(D) Five Year Planning Committee

are business enterprises that

are engaged in business in more than one country.

• (A) International Corporations

(B) Foreign Companies

(C) Multinational Corporations

(D) Public Sector Undertakings

87. Which of the following initiatives was proposed
by the Government of India in the Union Budget

2024-25, to empower MSMEs and traditional
artisans to access international markets ?

(A) Startup India Scheme

(B) E-Commerce Export Hubs (ECEHs)

(C) Make in India Campaign

(D) Digital India Programme

88. Under whose Chairmanship had the Government

of India appointed a Committee of Disinvestment

of shares in PSEs (Public Sector Enterprises) year

in the 1993 ?

(A) G.V. Ramakrishna

(B) C. Rangarajan

(C) R. Krishnamurthy

(D) Abhijit Baneqee
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S^E]

89.

^jHld^dlt:
(A)

(B) ̂ 31^^

(C) DBMS

(D)

90. 100^^^TI^%#RTTH^^it400 @
?2 yRl Md 13^k IwR=h^ 380 @^2-25 mRI Md

I, ̂  ?

(A) ̂  95 (yfrf^^
(B) ̂  100 (yRi^^)
(C) ^25(3T3^)

(D) ̂ 120 (Mfcl^d)

91. ^ ^

wm W I ?

(A)

(B) mR^hRi

(C) 3Tf^

(D)

92.

Rh4l<+dm%^t^MI -dldlt?

(A) ̂ TNRt W^Hdid

(B)

(C) Hi^flnd^yiH

(D)

93. "0^ WhTf% % 3lrWT ̂  ̂MK 3RWf ̂

B^cR:?ftvraT ̂  -iyqil ^)?r

^aTMlt I

(A) ̂

(B)

(C) nFTT

(D)

94.

95.

96.

97.

98.

aTR ̂  arffe ©jr ̂  w ̂i?T

^n^t?

(A) a^rter

■(B) WT

(C) ^sTPfi^hTfMtto^
(D)

X a^ Y t ̂  ^ 3 : 2 %
^Iz^f 11'Z' W

1 ̂ RT-W^f^^TT«R
ai^Mld4dl^lHMll^l^?
(A) 12:8:5

(B) 3:2: 1

(C) 8 : 12 : 5

(D) 5 : 8 : 12

4)MfH41 % ^ Idd<u|
#  C t^-'?ft>3lH=bl(liillfMdt?
(A) ^Rfte?K#RK
(B)

(C) 4^:i)ld'Ml4dlt?\ fSdmRT
(D)

^  IIRT 1^ ̂  %
% WT WT t ?

(A)

(B)

(D)

^  3lf^ ̂ 3^ ̂  ̂  ̂ aite t, ̂  W
^ncrTt1^#r-^% "^^tl
(A) dlcriild (f^^)
(B)

(C)

(D) arrffe^
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89. permits the creation, updating and
use of databases in an organization.

(A) Software

(B) Word processor

(C) DBMS (Database Management System)

(D) None of the above

90. If standard hours for 100 units of output are

400 @ ̂ 2 per hour, and the actual hours taken are

380 @^2-25 per hour, the labour cost variance is:

(A) ̂  95 (adverse)

(B) ̂  100 (adverse)

(C) ̂  25 (favourable)

(D) ̂  120 (adverse)

91. A resource owned by the business with the

purpose of using it for generating future profit, is
known as:

(A) Capital ■

(B) Asset

(C) Surplus

(D) Liability

92. Which of the following is created as an investing

activity for the purpose of preparing Cash Flow

Statement ?

(A) Cash sales of goods in trade

(B) Cash paid to suppliers of raw materials

(C) Cash paid to acquire machinery

(D) Cash proceeds from issue of shares

93. The sensitivity of an asset's return to the retum on

the market index is referred to as its

(A) Beta

(B) Delta

(C) Gamma

(D) Alpha

94.

95.

96.

97.

98.

The excess of expenditure over income, in case of
a club is called:

(A) Surplus

(B) Deficit

(C) Investment in fixed assests

(D) Capital fund

X and Y are partners sharing profits/losses in the
ratio of 3 : 2. They admit 'Z' as a new partner,

1
giving him 5 share offuture profits. What should

be the new profit sharing ratio ?

(A) 12:8:5

(B) 3 : 2 : I

(C) 8 : 12 : 5

(D) 5 : 8 : 12

'List C of the Statement of Affairs in case of

accounting for liquidation of companies contains

information.

(A) Preferential Creditors

(B) Unsecured Creditors

(C) Stakeholders with floating charge

(D) None of the above

Which of the following accounts is prepared

mainly at the time of dissolution of a firm ?

(A) Revaluation Account

(B) Realisation Account

(C) Reconstruction Account

(D) Amalgamation Account

If the combined entry is more than the sum of its
parts, the transaction is said to have created

(A) Synergy

(B) Net worth

(C) Combined value

(D) Economic gains
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99. ^ ̂ ^ WR

^  t, rit TM ̂  WRWMt:

(A)

(B)
(C)

(D)

100. f^nf^Rdd t ̂ bfkt ^ ̂
WTTcTR^^f?

(A) f^^clMld

(B) qft^^q^ft^WTrT

(C) 3il^a eiMia

(D) ̂ ftqtcTWTcr

101. STFTT ̂ifiicnaH 5^mi >3151 crii"^ %1

(A)

(B)

■ (C)

(D)

102. ^i^HH yfdwicri =t)i ^ni%,
WKf (TVC) ̂  ̂ #TT:

(A)

(B)

(C)

(D)

103.

45% ̂  ̂  ̂ t, ̂  ^:
(A) 0-33

(B) 0-50

(C) 2

(D) 3

104. •jUHMIdl

(A) ̂ 3cqR^

(B) STJcqi^^

(C) 41^41 <JcMI44) cish

(D) -icMM ̂ dl4lHdM;h

105.

(A) k.«t) Pi^HirH«d t

(B) q?3T^-ldM4=ht

(C) o<4iq5ifl«t^ M^ld

(D)

106. «R 3Tte?f4teq -iM-Ji RuRiI^d ̂  ̂smM

(A) WTcT-Rm1^?^W

(B)

(C)

(D)

107. 4R ̂14) 6 wt;

20% t, 1,80,000 W^PdM W14),

15,000 3Ttet,^3rKfi^^#KTf^

qqi^tt?

(A) ̂ 15,500'

(B) ̂ 16,500

(C) ̂ 18,500

(D) ̂ 31,500

108. 3ftinq ̂  Ifeq ̂  tcq yl^Ri'i

^  ̂qqq wJq t, ̂

qj^T^nclT^:

(A)

(B)

(C) Mw:

(D) ffe

109. fHMl^R^d t ̂ RBT ̂TteRiftqRtjr ̂  T^

rbtI?

(A) [^Tfi4 P"klq:4Rmt%«fl^
^mnqf

(B) t

(C) yfo'+>cil%TqBTq^M5-ctnai%

(D) «I<5IC1I
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99. If the change in quantity demanded does not

follow a constant proportion, then the demand
curve will be:

(A) Linear

(B) Non-linear

(C) Unchanged

(D) A straight line

100. Which of the following cost increases

continuously with increase in production ?

(A) Fixed cost

(B) Variable cost

(C) Average cost

(D) Marginal cost

101. Total revenue will be maximum where elasticity

is:

(A) Equal to zero

(B) Equal to one

(C) Greater than one

(D) Less than one

102. If the law of diminishing returns holds true, then

the total variable cost (TVC) curve will:

(A) Fall at an increasing rate

(B) Fall at a decreasing rate

(C) Rise at an increasing rate

(D) Rise at a decreasing rate

103. If a 15% fall in the price of a good leads to a 45%
rise in its demand, then price elasticity will be:

(A) 0-33

(B) 0-50

(C) 2

•  ■ , (P) 3

104. An Isoquant is also known as :

(A) ISRO product curve

(B) Unproductive curve

(C) Seasonal productive curve

(D) Production indifference curve

105. This is not a characteristic of Business

Economics:

(A) It is a normative science

(B) It is interdisciplinary

(C) It is pragmatic in nature

(D) It is only static study

106. Wealth maximisation approach is not based on
the following:

(A) Cost-benefit analysis

(B) Cash flow approach

(C) Time value of money

(D) Fund flow approach

107. If stock turnover ratio is 6 times; gross profit is

20% on sales, sales are ̂  1,80,000 and closing

stock is ̂  15,000 in excess of opening stock, then
what would be the amount of opening stock ?

(A) ̂ 15,500

(B) ̂ 16,500

(C) ̂ 18,500

■(D) ^31,500.

108. Computer program which controls and supports
the computer system and data processing
activities is called:

(A) Software
(B) Hardware
(C) Processor
(D) Printer

109. Which of the following is an advantage of profit
maximization ?

(A) Easy to determine the link between financial

decisions and profits

(B) Recognises risk

(C) Recognises the timing of returns

(D) Promotes social welfare
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110. ^

cinri yiHlf^ch CITT^ ̂  % ?

(A) ̂ 5FRTffei^WH

(B) ^<cbl-0 <+<|¥?R^=ft%

(C) yl^lM^TFlfcT

(D) oijNK

111. Rnf^i^dd I^Ri'^.ai oqiqtul^-^

#iillfi|d W^'t?

(A)

(B)

(C) ̂ fddi y<^fd

(D) 37f^f^cIcTT

112. 1^%^^^>PR^3TRoqiHK%=hM41 qiaiq<."i
©\ ©s

^aWTTTH^t?

(A) ̂ dleld^^tK^

(B)

(C) ydddl ̂ Hl mRd dil-y

(D) «<<^>K an.1 HiRa

113. pHidn^dt^Pb^

a?5# W ̂ W t ?

(A) ^ ^^dddl ̂

n3

(B) ^^eilpch-icHKH <=b<^%fdy.

(D) yiMlPl=b3^a7TM^er^^yMch<^%1^
P^FRd '=hp S^^RTT^Rt'^

#TT^3rf5Rn

114. MdfcKuni^ amRm

(A) RfcRft^r

(B)

(C) dH^Pdi

(D)

115. ̂ TKcrt^fp5RT3TBik^M6d ^P)dl d^l SIT?

(A) 1915

(B) 1951

(C) 1905

(D) 1950

116. aTTf^1N1^w3n5ifiRr3^wt?

(A) tidfoici P'Mti 3^ «i<$iqi

(C) ̂ dd P'ii?d-3TT^lRd

(D) oSTFTK^r^^^mH^cTK-^^I^^WTM^RTT

117. ̂ TKd"^'^tR-'RT srf^pijH ■<?v^ ^ 'flP dil
Mwwrt?

(A) ^iq^3rf^rf^,20i3
(B) M.d^lRj^K 3^ ^s^NK

3qf^Tp^, 1969
(C) 5rf^W«lf3ri^TtoT,2002
(D) 3qiik^TTmOT3lM^,2019

118. ^TKd"'#3dl(l4)<ui^%f^3Rffe^^mr#^p'Tra"%
Wff WtRf ?

(A) dl$tl<:l-M<P<i-=Pci <1^
(B)

(C) m\^
(D) ^H^+ld ^P)MMU|icrfl

119. MRt^d"^31^
^Wtt%?
(A) SmPRTTft
(B)

.  (C) ^sl y<*K%3M^"l=wi hihP
(D)
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110. Which of the following is an example of social
factor affecting the business environment ?

(A) Demographic Trends

(B) Government Taxation Policy

(C) Advances in Information Technology

(D) International Trade Regulations

111. Which one of the following features is not
included in the business environment ?

(A) Totality of external forces

(B) Specific and general forces

(C) Static nature

(D) Uncertainty

112. Which judgement or legislation do you consider

separate from legal business environment ?

(A) Court Judgements

(B) Decisions rendered by various

Commissions

(C) Legislation passed by Business Unions

(D) Legislation passed by Government

113. In which of the following options is economic
planning best explained.?

(A) A method to allow complete market

freedom without government intervention

(B) A system for solely maximizing industrial

production

(C) A strategy to maintain the current economic

status quo

(D) A process of setting goals and allocating

resources to achieve social and economic

targets

114. Business environment is a
concept as it differs from country to country.

(A) Dynamic

(B) Relative

(C) Real

(D) Either dyamic or real

115. Planning Commission in India was established in

which year ?

(A) 1915

(B) 1951

(C) 1905

(D) 1950

116. The primary objective of economic planning is :

(A) Promoting balanced regional development
and employment generation

(B) Ensuring minimal government involvement

in economic affairs

(C) Focusing solely on export-led growth

(D) Eliminating all fluctuations in the business

cycle

117. Which Act in India primarily governs competition

policy ?

(A) The Companies Act, 2013

(B) Monopolies' and Restrictive Trade Practices

Act, 1969.

(C) The Competition Act, 2002

(D) The Consumer Protection Act, 2019

118. Which system came to an end with the

introduction of economic reforms focused on

liberalisation in India ?

(A) Licence-Permit-Quota Raj

(B) Nationalisation of banks

(C) Agricultural subsidy system

(D) Cooperative banking system

119. Who shall be the Chairperson of Central
Consumer Protection Council, "Central

Council" ?

(A) Prime Minister .

(B) Vice President

(C) The Minister in-charge of the Department of

Consumer Affairs in Central Government

(D) Central Minister of Law
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120. ̂  m ^ ̂ ^

«iR^3htw

^1dlt,=b^dlcllt:

(A) ha\ ̂Mci'i

(B)

(C) f^;WT^W13^

(D) ̂ hIhRI y'MH

121. XT^^. I^H sT'^

%3^5xnx, RHRiRddt^^-XTTXi'lciHIri^ch
%-clK

(A) =t)«ndl y^fd

(B)

(C) oiiuiK ti^Ia

122. **^3rfpf)^1^TXT%3T?pRrT^^^JTto3FJrXT'^%XT^X^

(A)

(B) ^^cci

(C) a#{^

(D)

123.

■  (A)

(B) teT3^.^

(C)

P) ̂rf^

124. WT =hl4 chlH-Wt ?

(A) XTW

(B)

(C) xm^

(D)

125. 3:^ jM-4dl ̂fdR^ld ̂

•STRft^ ?

(A) 1<L\ 4I^Rd

p)

(C) |Ad

(D)

126. W^%14Ri<slidl^yf^MI4d Rh-MI t?

(A)

(B) H|4)<

(C)

P)

127. yfsb-in (t2Tiri^Rid)t*ETL"sj^TW^t?

(A) ^rawf, pxtract, Transform,
Load)

(B) ^TXT^, (Extract, Transfer,

Load)

(C) tr^xrl^, ̂ IXTTiX, pxtract, Transfer,

Logic)

(D) y.cKH^d'i, tx?, (Extract, Test, Load)

128. "^T-Xft 1^ ̂HdvlO ̂  ̂  ̂

^ ̂i^TTOxi ̂  t, 1%XT^ ^

XIFTT 3^ aXTXTH ̂  ^STTcTT t ?

(A) 3HH5ti[H«6

(B)

(C)

p)

129. ^ toxrtTl^^X^ W MiiH"
^ ̂ Tfbwf^iXT% w ̂ ̂ t ?

(A) ̂ sfRirq^.Tfl"

(B) ^H).-s®r^

(C) ^n^^.ticq^

(D) [^Ri^h . 'cT^
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120. An organisation of persons at work which is not

deliberately and formally structured but arises

spontaneously, is called:

(A) Line organisation

(B) Informal organisation

,(C) Functional organisation

(D) Committee organisation

121. According to Robert E. Quinn and

Kim S. Cameron's Competing Values
Framework, which of the following is not one of
the four types of organizational culture

identified ?

(A) Clan Culture

(B) Adhocracy Culture

(C) Market Culture

(D) Bureaucratic Culture

122. "The process whereby one individual influences
other group members towards the attainment of

defined group or organisational goals," is called :

(A) Coordination

(B) Leadership

(C) Motivation

(D) Direction

123. Who has given the concept of 'Bounded

Rationality' in decision-making ?

(A) Herbert Simon

(B) Peter F. Dmcker

(C) George Teiiy

(D) Guhck

124. What is the first function of management ?

(A) Organisation

(B) Planning

(C) Coordination

(D) Controlling

125. Which of the following features is commonly
provided by accounting software to ensure data
security, safety, and confidentiality ?

(A) Data Mining

(B) Data Vault

(C) Email Integration

(D) Cloud Hosting

126. Who has propounded the 14 Principles of
Management ?

(A) F.W.Taylor

(B) Mary Parker Follett

(C) Henri Fayol

(D) Koontz and O'Donnell

127. What does 'ETL' stand for in data processing ?

(A) Extract, Transform, Load

(B) Extract, Transfer, Load

(C) Extract, Transfer, Logic

(D) Extract, Test, Load

128. Which coding methods use alphabets or
abbreviations to codify information making it
easier to remember and identify ?

(A) Sequential Codes

(B) Random Codes

(C) Mnemonic Codes

(D) Block Codes

129. "Management is the development of people and
not the direction of things." This definition of
management is given by :

(A) John F. Mee

(B) F.W.Taylor

(C) Lawrence A. Appley

(D) William F. Glueck
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130.

Ihcih =f)ll^y.:

WEffi W^II
Cv C<.

(i) sTtorfF 1. WTTte^g^8frT

(ii) tew 2. ter^iT^te^

(iii) 3. WT

(iv) JvrfeP^ (^3Tra^ 4. ?Tf^r^'3%8iW

(A) (i)-3,(ii)-4,(iii)-l,(iv)-2

(B) (i)-2,(iiH,(iii)-l,(iv)-3

(C) (i)-3.(ii)-2,(iii)-l,(iv)-4

(D) (i)-3.(ii)-4,(iii)-2,(iv)-l

^ tid4i 'i^'% ?

(A)

(B) ^l=)t?'l

(C) .

132. irm t tederte t ̂

MR^WdkH4)

(A) acrfrf^

p) 3ltefF

(C)

p) mc^^rkter

133. ^ 3m ̂  W

I

(A) ssn^wte^^tte
(B)

(C) ^\kH
P) -dlsiiK^lRdM

134. Wd" "R ^ Ws^T ̂

M^wrt?

(A) sMtete^sTfyter, 1947

(B) 3qter^kOT3Tf^TteT,20i9

(C) tefr3dltei,20i3
P) 31TW3dllteT, 1961

135. PnRiRdd

te:i948#^anf^^?

(A) SFCs - <1"^

(B) IDBI (a7Tt.^.4l".3Trt.) - »iRdkr a^Mte

(C) iFCi(3^Tf.^.^.3nf.)-^te^3Mtete
teT%.

P) ICICI (3TTf.#.3TTf.^ft.3TTf.) - ^TKcfkf

y.«^ Pi^^i Pi'm Id.

136. [HHi^f^d 11 ^ ^wm ^

(A)

(B) ^iHdkfd'l

(C) 4i<HI

(D)
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130. Match the functions in List I with their activities 133. The first set of Basel Accords primarily focused
in List II: on

List I List II (A) Business Risk

(i) Procurement 1. Social Security (B) Credit Risk

(C) Inflation Risk
(ii) Development 2. Performance

(D) Market Risk
Evaluation

(iii) Maintenance and 3. Selection

Motivation 134. Which legislation primarily govems industrial

(iv) Compensation 4. Workers Training relations in India ?

Codes: (A) The Industrial Disputes Act, 1947

(A) (i)-3, (ii)-4, (iii)-l, (iv)-2 (B) The Consumer Protection Act, 2019

(B) (i)-2.(ii)-4,(iii)-l,(iv)-3
(C) The Companies Act, 2013

(D) The Income Tax Act, 1961
(C) (i)-3, (ii)-2, (iii)-l, (iv)-4

(D) (i)-3, (ii)-4, (iii)-2, (iv)-l
135. Which one of the following institutions was

established in 1948 for development of banking
functions ?

(A) SFCs - State Financial Corporations

131. Which one of the following is not a component of
(B) IDBI — Industrial Development Bank of

Job Design ?

(A) Job enrichment India

(B) Job rotation
(C) IFCI — Industrial Finance Corporation of

(C) Job reengineering
India Ltd.

(D) Job retirement
(D) ICICI - Industrial Credit and Investment

132. Which of the following is not an operational Corporation of India Ltd.

function in Human Resource Management ?

(A) Compensation

(B) Procurement
136. Which term is not related to Human Resource

Management ?

(C) Controlling (A) Termination

(D) Maintenance and Motivation
(B) Moonlighting

(C) Work from Home

(D) Repatriation
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137. ^ <"i'fl[d "icHit; ̂

^ l^yfftcT 3^ te WT % ̂
# «ff^-?fft: ̂  TOT Wfe t ?

(A) f^^<;irH«h

(B)

(C) Wf (R^TfrPT)

(D) «slNl<M^^3jjn<J)d =bWl

138. 4)M41 slKl RM.nir^TTO:

^rfe^scqr^: sooooo^^pw

WTcf: wnft WIcT: f 40,00,000

dHl^': f60,00,000

^8,00,000

^80,00,000
Cs * '

30%

4^ 20% Wm (eTm)
^i\\:

(A) ̂ 25-92

(B) ?26-17

(C) 5^27-00

(D) ̂ 32-40

139. I^RfM^cT ̂  ̂ RlctJcrM

(A) f^fWTH^^t^lRd ch<dl yiH di<^

(B) f^-yfciRd % fciH^H <=t)t R'^lldd 4)<dl

(C) >iIa^4F ^ cti<Hi

(D) "^1 J>|ai^ <t)<HI

140. 1%TOT fivm % TITO ̂  ̂ (Ps) PlHfdRdd ̂  %
^-^t?

(i) -dcHiq (Product)

(ii) (Place)

(iii) (Packaging)

(iv) (Price)

(v) (Planning)

(vi) (Promotion)

f^=t>QrH =t)i cQf^y.:

(A) (i),(ii),(iv)^(v)

(B) (i),(iii),(v)Ti^(vi)

(C) (ii),(iv),(v)TT^(vi)

(D) (i),(ii),(iv)Ti^(vi)

141. Rnf^Rdd t idd)cr4 fWH ̂  3miW

^^^dTdH^tnR'mRid 4)<dit?

(A) ̂ dd dcMKd^^^^H ̂(^d 4)<4I

(C) dluclTfch<^cfl'%'iMl^ «t5l >lR[H«t>dl ̂ -11

■  (D) 3lidRd) yf^dl TR tdH ̂Pstd di<HI

142. PnldRdd dil4 ?

(A) ^^TTsff ̂  TT^

^5^

(B) fWRtot^R

(C)

(D) li.'rhl^a «^<.'1l
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137. Which ofthe following pricing strategies involves
setting a high initial price of the product and then
gradually lowering it over time ?

(A) Differential pricing

(B) Penetrating pricing

(C) Skimming pricing

(D) Adoption of market prices

138. Data given by a company:

Annual Production : 500000 Units

Annual Cost: Material Cost: ^40,00,000

Wages and other variable costs : 160,00,000

Fixed Cost: f 8,00,000

Investment in fixed assests and

working capital: ^ 80,00,000

Corporate tax rate : 30%

If the company desires pre-tax 20% retums on

selling price, then selling price, per unit will

be:

(A) ̂ 25-92

(B) ̂ 26-17

(C) 5^27-00

(D) 32-40

139. Which of the following options best describes
"marketing planning"?

(A) Setting marketing goals and formulating

strategies to achieve them

(B) Executing day-to-day marketing operations

(C) Evaluating competitor performance

(D) Managing financial resources

140. Which of the following are the main four Ps of
marketing mix ?

(i) Product

(ii) Place

(iii) Packaging

(iv) Price

(v) Planning

(vi) Promotion

Choose the correct option :

(A) (i), (ii), (iv) and (v)

(B) (i), (iii), (v) and (vi)

(C) (ii), (iv), (v) and (vi)

(D) (i), (ii), (iv) and (vi)

141. Which of the following options best defines the
concept of marketing ?

(A) Focusing solely on production efficiency

(B) Emphasizing customer needs and

satisfaction to drive business success

(C) Prioritizing cost-cutting measures

(D) Concentrating only on internal processes

142. Which of the following is not considered as a
primary fimction of marketing ?

(A) Gathering and Analysing Market

Information '

(B) Marketing Planning

(C) Product Designing and Development

(D) Collection of Resources
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143. :

(A)

(B) TT^ KI^ # ^ 3qq% ̂

% ̂cMlRd ̂  % ̂<^KH t
<^i(rMiyi «f^-Hchdl %I

(C) ^3^cRqm

t Wt^ ̂  m ^ 1^ ̂Krft t,

<§'"1 i

(D) ^ 3RR ^ # "ETSSfT

«4dl<M^ Ot^)#aicR^du?d ch<dl 11

144. I^HRiRad^^I^tiA -ijs HHi Pi-mIci

^ q<5i«ft< cTSTT^i'Mia ̂  >H(iict)<. 31R^ ̂hRi (RT^T^
«i<pi ««hai % ?

(A) lyidK
(B) ̂ HWdK

(C) dllui^dld

(D) f^^^JTFTR(^f^^)

145. I\«t>l-^% cl^'llcH«tJ crll'»T% ^
V3

% Sn^TR'RToqiOiil 1

(A) ST^WlrT

(B) >i(aw

(C) ^in^#3T^5zig^W{f(f^iWT^

(P)

146. Rnf^Rdd t ̂ mRuiw^^p>m ^nw

^3^ (WTO) ̂  WMT |f ?
(A) ̂ ^(f^^TTSn^)

(B)

(C)

(D)

147. HRIS^a^t:

(A) H^'ciH M'J||<rfl

(B) iTT^^RTT^^^RT'SnJn^

(C) HR^^RTT^R^f^HM yuiHrH
(D) iTR^^RTT^W^5RTTcft

148. I^Rft ̂  ̂ ̂TRT ̂  3R^ [^cK^i hiwjhI "gRT

3WT ̂ ^3MR ̂  ̂ "grn ^

=6dMldltl

(A) 5R^ PiqFa

(B)

(C) y.'^ei Pi^Fci

(D) f^f^Mcr

149. ̂ 7?ff'5lfe^%^R'^?T^^3TcrcR)RT^^tl^:

1. MHdWJHmM-dH

2. <"i41Id ̂  idyR^I

3.
0\

4. ^cfTRiRr^I^^W'MH

5.

(A) 3,4,2,1,5

(B) 2,4,1,3,5

(C) 1,4,2,3,5

P) 1,2,3,4,5

150. ws: TOTT % % 1^ ̂  ̂ Rta

TK ̂  , ̂̂ rtT cisiT ̂  % an^RTR ̂  ^
3*21^^ teK 3Rcr Wt 11

(A) M'hm

(B) >idl(l=h<u|

(C)

(D) WaftWT
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143. The Theory of Absolute Advantage states that:

(A) National wealth and power are best served
by increasing exports and decreasing

imports.

(B) Nations can increase their economic
well-being by specialising in the production

of goods they produce more efficiently than
anyone else.

(C) The value or price of a commodity depends
exclusively on the amount of labour going
into its production, and therefore factor

prices will be the same.

(D) Differences in absolute advantage explains
the differences in factor endowment in

different countries.

144. Which of the following holds that a country can

•increase its wealth by encouraging exports and

discouraging imports ? .

(A) Capitalism

(B) Socialism

(C) Mercantilism

(D) Laissez-faire

145. Ricardo explained the Law of Comparative

Advantage on the basis of:

(A) Opportunity costs

(B) Law of diminishing returns

(C) Economies of scale

(D) Labour theory of value

146. Which of the following culminated in the

establishment of the World Trade Organisation ?

(A) The Doha Round

(B) The Tokyo Round

(C) The Uruguay Round ^

(D) The Kennedy Round

147. HRIS stands for:

(A) Human Resources Identifying System

(B) Human Resources Information System

(C) Human Resources Intelligent System

(D) Human Resources Intuitive System

148. Selling the products to a country directly through
its distribution arrangements or through a host

country's company is known as :

(A) Direct exporting

(B) Indirect exporting

(C) Single exporting

(D) Multiple exporting

149. Correct the sequence of the recruitment process
from beginning to end :

1. Human Resource Planning

2. Determination of Strategy

3. Evaluation of Sources of Recruitment

4. Implementation of Recruitment Method

5. Feedback and Control

Codes:

(A) 3,4.2,1,5

(B) 2,4,1.3,5

(C) 1,4,2.3,5

(D) 1,2,3,4,5

150. refers to the increasing
integration of economics around the world,

particularly through the movement of goods,

services and capital across the borders.

(A) Privatisation

(B) Liberalization

(C) Globalisation

(D) Socialisation
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